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CIVIL ENGINEERING - I

1. When a train passes' on curves which
: have no super-elevation it will give
thrust on '
\i:)/ﬁ inner rail
the outer rail
(c) inner side of the inner rail
(d) inner side of the outer rail

2. A scissor crossover between two
parallel railway tracks contains
(a)

(b) a turn-table device

iangle crossover

a diamond crossover
(d) None of the above

3. Runway length required under
standard conditions is 1500 m. The
actual elevation of the site is 1100 m
above M.S.L. Run\&ay length corrected

fgf Bttitiide will be
) 1115m

(c) 1885m

(b) 1678 m
(d) 2050 m

4.  Based on spot speed data which speed
is used for geometric design of roads ?

(b) /50 percentile
98 percentile

5. The rate of rise/fall of the road surface

along its length, is called
%

(a) 15 percéntile
(c) 85 percentile

(a) Cant
(b) Super-elevation

~ (c)/'\Banking
Gradient

Series-B

1 6. As

1 9. Themain function of ﬁsh plates is B s
to join the two rails together. bb

LR.C, it s

per considered
appropriate that roads in rural areas
- should be designed for

(a) 20- 25 years ) 15- iO'years
(e) 10-15years (d) 5- 10 years
7. Relation between gradient (g) and
camber (c) in case of roads, is
e e (b) g =§

3 8
(c)_c=4g C=2

‘8. Horizontal alignment in mountainous

- country is conditioned by
b (a) Drainage structures

~ (b)ADepth of cut and fill
- vf{\ Cost of right of way

(d). Maximum grade criteria

WM
5246
10. In railways, most severe gradient is ‘ 231/

49

(b) to join rails with the sleeper.
{t) to allow rail to expand
contract freely.

(dj'. None of the above.

J8radients of rack railways

Pusher gradient

- () Momentum gradient
.(d) Exceptional gradient
~ KNTCRA-54
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11. The transition curve used in the |15. O, and 6, are the angles of elevation

. horizontal alignment of Ilg\‘_w as from ‘A’ to the top and bottom of a

vertically held rod of length ‘S' at B.

, Cubic spiral | ; The hogifontal distance AB will be
(b) Lemniscate _ ' s |

) tan 6, -tan 6,
(c) Cubic Parabola

per IRC recommendation is

S

(d) None of the above (b) tan 0, +tan 0,

S
. c T
12. For sandy soils the most common (e tan 6, -tan O,

method of stabilization is (S (tan @, —tan 6,)

(a) soil-cement stabilization

(b) mechanical sta?ilizat’ion 16. The radius of a simple circular curve is
e sl stabilition 300 m and length of its specified Chord
_ \"”—"‘"“"’ _ o is 3@ m. The degree of the curve is
~ }d{l soﬂ-butumen. stabilization \(4/5.73" (b) 537°
(c) 3.57° (d) 3.75°

13. The station which is selected closed to
the main triangulation station, to avoid 17
intervening obstruction, is known as

Shift of a circular curve j§ given by

(a) L%/6R ) L3/24R
(a)  satellite station | (c) L/24R (d) L/6R
\M Ise station “Where L = Length of transition curve
supplementary station ' ' R = Radius of circular curve

ivot station

ultiplying constant of a -
eter is given by
14. A tape of length ‘/’ and weight ‘W’

: i
kg/m, is suspended at its ends with a (b) f
pull of ‘P* kg., the sag correction is f+d
(c) f+d (d) —
B2 , 2wW3 '
“( 24p2 ' (b) 24P - where ‘f is focal length of the
: objective, ‘i’ is the stadia interval and
~ IZWZ M - Idl A h di b h
(c) PYTS (d) 2ap is the distance between the

“)...,g _ objective and the vertical axis.
W\ |
Series-B Q_bb L v 4 ' KNTCRA-54
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14.
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afy o v R ag ‘9], BW
SeaitR <l ¥, SHT A Y Jeor B W
SR RR a2 Fas fRR w® S=1a= s
6, quTe, ¥, &fts &t AB fferRaa
5 s -~

@ G 6,-tan6, ) tan 0, +tan 6,

S
{c} tan 0, -

tan 6, (d) S (tan 6, —tan 0,)
wﬁ%ﬁﬁaqﬁu-waﬁﬁwsosrﬁ.

(a) 5.73° (b) 5.37°
(c) 3.57° - (d) 3.75°

‘. Wﬁ'ﬂaﬁﬂwﬂtﬁﬁﬁmﬁ
BTE: '

(a) L2/6R (b) L/24R
(c) L/24R (d) L/6R
SIET L = HpHYI T P TS

R=qﬁ’lﬂaﬁaﬁﬁw

o)
(c) f+d (d) ﬁi—d
WET ‘F AMNETTP FHT AR 8
|Q%'%'QTG-‘F\=N%
aﬁmwwﬂsmﬁvm
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19. Tachometric formula for horizontal
distances using inclined sights through
B is obtained by multiplying
(@) the constants by sin? @

nstants by cosZ 6

the multiplying constant by cos? 6
and additive constant by cos 0

20. In aerial vertical photography, the
longitudinal overlap is hc;rmally kept as

50% (b) 60%

) 70% (d) 75%

(a

21. The main plate of a theodolite is
' divided into 1440 equal divisions. 60
divisions of the vernier coincide exactly

with 59 divisions of the main scale. The

. least count of the-t\h:?a\lite is
} 107

(a) 5”
(c) 15" (d) 207

22. Perpendicular offset from a tangent to

the_junction of a transition curve and

- Ccifcular curve is equal to
) S (b) 25
(c) 3S (d) 4s
where ‘S’ is shift.

23. In plane tabling the instrument used to
measure horizontal and vertical
distances directly is known as

. o
\JZ)A de ‘
l

(c) Tacheometer
. 71 <’

Simple alidade
Telescopic alida

(d) Clinometer

Series-B
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24. With usual notations, the expression
'VZ : g
R represents

~(a) centrifugal force

(b) gentrifugal ratio
‘L,(f{guper-elevation

{d) radial acceleration

25. If the length of chain is 20 m, the
degree of curve is given by
) 1146/R (b) 1546/R
~ (c) 1519/R {d) 1119/R
~ where R is radius of circular curve.

26. If the image of a triangulation station
of R.L. 500 m is 4 cm from the principal
point of a vertical photo taken from an
altitude of 2000 m above datum, the
height of displacement will be

(a) m (b) 8 mm
\)()/;vmm

(d) 12 mm
27. As per IS, the length of one link in a 30

- melxe chain should be
Uj{izo cm (b) 30cm

(c) 40cm (d) 100cm
28. In Plane tabling failure of fix occurs
when
(a) The plane table is inside the great
triangle.
(b) The plane table is inside the great
" circle.
Yo~ (c) The plane table is outside the

\“f'eat circle.
The plane table is on the great

circle.
\Sy

KNTCRA-54
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22,
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o e

(a) f@]’\’iﬁaﬁsinze'\q 2
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29. In ‘levelling, the correction due to
- refraction may be taken as.

1 _ ' 1
@ 3¢ ) 3¢

where C_ = corr. due to curvature

30. The length of long chord in a circular _

curve is equal to :

(a) Rsing (b) Rcos¢

(d) 2R cosg

.9
( 2Rsm2 2

where ‘R’ is the radius of the curve, ‘¢’
is the deflection angle.

31. The maximum rate of change of radial
acceleration allowed on transition

curves is

(a) 100 mm/sec® (b) 300 mm/sec3

(c) 400 mm/sec? \(d)/500 mm/sec?

32. In a centered triang'e the equations of
condition are

(a)~ four angle conditions
‘)Z)(\ three angle conditions and one
side condition. _ _
(c) four angle condmons and one s:de

condition.

(d) three angle conditions and. two

side conditions only. v

Series-B - W a:,
- 0 AL _\\_‘L-

\/t() both (a) énd (b)
i ,

33. In case of gravity dam subjected to
earthquake, the hydrodynamic

yure variation curve is taken to be
{a) . Parabolic

(b) Elliptical
(c) Triangular

(d) Elliptical cum parabolic

34. A hydraulic jump is formed when

(@) a subcritical flow meets a
supercritical flow.

(b) a - subcritical flow meets a
beritical flow.

(oA @ supercritical flow meets a super-

itical flow.
(¢ a supercritical

subcritical flow.

flow meets a

35.  If the flood discharge flowing in a river

is 3600 m/s, its perimeter as per
Lacey’s theory is likely to be g‘g (
(d) 270 m 6

- (a) m

36. The hydraulii: failure of an ‘earth dam-

(b) 300m

includes the following :
(a) over topping and wave erosion
(b) toe erosion and gullying

(c) piping and sloughing

KNTCRA-54
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37.  Crest level is kept low with large gates | 41. Which of the following is a type of

in the following : semi-modular outlet ?
(a) Sluice (b) Escape \_“1a) Submerged pipe outlet
(c) Regulator (d) Barrage (b) Open flume outlet

(c) Both (a) and (b)

38. In an aqueduct, natural drainage is (d) Kennedy's Gauge outlet

kept at the following of a canal

(a)/at the same level _
\/)( i 42. The ratio of head recovered to head
: ) below . ' \

put in an outlet is called

(c) above . :

(a) proportionality
f

(d) None of these gP 4,

) flexibility

39. The uplift pressure on upstream floor o
. (d) sensitivity
of a hydraulic structure determined by

Bligh's theory as compared to Khosla's
theory is 43. If the discharge in a canal equals to
(a) same 70 m3/s with its silt'factor \ﬁ, the

velocity of flow in canal as per Lacey's

(b)A more :
\)K\Iess ' theory is ﬁ\
) 0.75m/s

(d) None of the above (a) 0.5m/s {5
Mm/s (d) 1.25m/s &S‘S\/
- N a0

Khosla’s theory in case of design of 44. In a Sarda type fall, the width ‘B’ of the

40. The exit gradient determined by

NG

weir working under head ‘H’' with ) trapezoidal crest is given by

impervious floor length ‘b’ and depth ~ (a) B .—_0,44«\[}1 +d 4«?}2} B
of downstream sheet pile as d is : | ‘g)/gz 0.44 \/H_——d k_m}()

1 d 1

) Em (b) HH;‘[ | B=0.55H+d "
H1 H _1(1_»1] (d) B=055H=d

(F) d \x (d) cos =

where A is a function of b and d. ‘d’ = drop in bed level

'where ‘H’ = depth of water

Series-B : 10 . KNTCRA-54
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45. When the drain is over the canal, the

structure provided is known as
(a)
(b)

aqueduct
canal syphon
super-passage

(d) syphon aqueduct

46. For an annual fleod series arranged in
decreasing order of magnitude, the
return period for a magnitude listed at

position ‘m’’in a total of N entries is
(a) m/ (b) m/(N+1)
() +1)/m  (d) N/(m+1)

~ 47. The total rainfall in a catchment area
1200 km?2 during a 6 hours storm is
16 cm. While the surface run-off due to

storm is 1.2 X 108 m3. The ¢ index is

(a) 0.1 cm/hr,

\gr(\m cm/hr.

(c) 0.2cm/hr.

(d) cannot be estimated

Thickness of concrete lining s

governed by
(@ r
(b)

uirement of imperviousness.

requirement of imperviousness &
structural strength.
(c)

Thumb rule for providing nominal
thickness.

(d)

slope of bank.

Series-B

12
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49.  Silt' ejectors are provided as a silt
cpntro_! device on
(a)
(b)
(c)

upstream of a spillway
downstream of a spillway

upstream of a canal head

. ragulator

downstream of a canal head
regulator.

50. The uplift pressure on the roof of a
siphon aqueduct is maximum when

(a) canal is running at full supply level
‘and drain is dry.

(b) Arain is running at high flood level
and canal is dry. '

(c) canai is running dry.

(d) drain is running dry.

51. Out of total liquid water on earth, the
brackjsh water is

above 95 percent
W ({#) - around 75 percent
{c) around 50 percent

~ (d) estimates are not available.
52. The suitable method for irrigating
~ highly modulatihg1and is
-(a) drip irrigation
{b) furrow irrigation
() sprinkler irrigation
(d) None of the above

KNTCRA-54
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(c) TR Fa=e & 5 yare |

C () ﬁ%‘\""ﬂﬁﬁu%‘&imﬁ |

HIFH AAATE A B BT W AT <4,
- O W Al BT B, 5
~ (a) TER OF WRYT VR W 9% Ve B SR

B (drain) T & |
(b) BT S 916 Iq 9N §8 &) & I

TR GEIT |

() TERGHE

51,

52.

(d) BT qETE |

‘gedl 9¥ SUE AR STl DI Pl AT H

@R g &1 A9 fFrfoafaa ®
(a) 95% A HUW

(b) T 75%

(c) FTHIT50%

(d) VS IO TE B |

ey i 4ty o Rrarg & fod srggeat

(a) TUB (drip) g

(b) psfaE y
(c) '\#ﬁ(gj}rinkler)ﬁﬂﬁ

(d) SR B T
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53. Watgr logging occurs when the water | §7. The downstream curve of the ‘ogee

tableis ' ' ' ~ profile for an ogee shaped spillway
(a) upto root zone of crops - crestisgivenby

B o ' x\0.85
(b) 3.0 m below G.L. | (a) (ﬁ) _ 2(%]

(c)/\4.0 m below G.L. i
(b) x5 = 2H185y

) 4.5 m below G.L. V.
s \J‘e{‘xms =2H VO.BS

‘ (d) y1.85= 2HO-85)
54. The Muskingham’s method of flood: '

routing through a river reach is emere tgrms ha_ve usual meamng.

 primarily a ‘ Q
(a) one parameter model 58; fhe indicator uséd in C.O.D. test is
 (b) _two parameter model - (a) starch T |
€) three parameter model _ ‘ _ nolphthalein “~ E . el
(d) model hav'ing no parameters B \yz::ous ammonium sulphate

l (d) ferroin ¥

55. The ground water movement in alluvial

 soils is analyzed with the help of 59, The best sewer material to resist
(a) Kennedy's ‘equat'ions and - hydrogen sulphide corrosidn is
relationship (a) R.CC.
| (b) cey’s equatid'ns ' (b) brick masonry
u)/‘jarcy’s equations - - {c) asbestos cement
(d)‘ Froude’s criterion ' ( glazed stoneware

56. The water utilizable by plants is" 60. The bacterias which may survive with

available in soils mainly in the form of or without free oxygen, are called
(; gravity water | ; (a) aerobic bacteria

b) capillary water’ : ’ | (b) /anaerobic bacteria

(c) hydroscopic water ' facultative bacteria

(d) chemical water (d) None of the above

Series-B ' 4 - KNTCRA-54

Page - 38



A testbook.com

53.

fFrefafga w8

(a) PAA S TS AAH
(b) ﬁﬁaaéa.oﬁ.#ﬁ
(c) YPAaad4.0%.
(d) qﬁﬂam.s:ﬂ.:ﬁ%

54, .31 & bt U w1 A 916 |11 & g DY

55.

56.

Aqfded faf gea:

(a) T WA AT e & |

(b) @ Tl are WA R |

(c) TUTIA AT ATSHA & |

(d) T& Qa1 Alsd Foad 9IS wrad 81
Bl |

SAE Hal 3§ Yo e 1 e
FrfaRea grfemsman & -

(a) B> THHRON iR T W
(b) S wEfERI W

(c) St gHiERI TR

(d) WIS F PR

Wi & GRT AT 317 grer et gaT §
{7 ayeren 3 Sy g :

(a) v .

(b) BRI (capillary) ST

(c) STl ST (Hydroscopic water)

(d) INIRAfYS ST
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58.

59.

60.
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R SR S P
ferg siroft ured fora & st asb = &

(a) (ﬁ)ﬁss - 2(33 | |

(b) x°85 = 2H185y
(c) x185 = 2H yO85
(d) yieS = 2HO®5y
STel U1 BT AT e ¥ |

C.0.D. S¥iervr 3 fafaRas &1 wav fvan
NGRS

(a) ETd

(b) fpmiemiferT

(c) W M Aothe

(d) BT

ms?avﬁ GEHIES & GHRY B Ab
(a) SR

(b) ST A R

(o) TaaEw A

(d) iRy Rremais

S iRl 1 s
WMfaEd €, ST aed &

(a) ITERT ST

(b) FATIIY SHaT]

(c) Wopecfea Sirary

(d) S
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61. The maximum depth of sedimentation

v({):m'

(d) 6m

62. ﬁ/BOD ratio of fresh ris
aN lessthan 1 (bY more than1

(d) None of these

tanks is limited to
(a) 2m
(c) 5m

(c) equalto1l

63. The proportion of solids in sewage is

abou
(a) /2.5% or more (b) 1% or more
0.1% orless (d) zero
64. Disinfection of water results in
(@)
(b)
) killing of pathogenic bacteria

removal of turbidity -

removal of hardness
(d) removal of odour

65. On standard silica scale, the turbidity

should be limited to

(a) 30apm
(c)/ 10 ppm

(b} 20 ppm
(d) 50 ppm

66. If the total hardness of water is greater

than alkalinity,
hardness will be equal to

its the carbonate

(a) non-carbonate hardness
(b) total hardness

(c) total hardness — total alkalinity
\ total alkalinity _

- Series-B
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r

67. The D.O. level in natural unpoliuted
water at normal temperature is found
to be JD/)

(a) 1 mg/litre 7 10 mg/litre
(c) 100 mg/flitre (d) 1000 mg/litre
‘ 68. The length of rectarigular

sedimentation tank, of breadth B,
should not be more than

(a) B (b) 28
w

(d) eB
69. Th¢'colour in water is generally due to
a) suspended impurities

(b) dissolved impurities
(c) colloidal impurities

- (d) None of the above

70. A rectangular tank 15 m X6 m X3 m
has to treat 2 million litres of water per
day. T

shouid be

detention time of the tank

} 3.24 hours (b) 5.63 hours

(c) 12.0 hours {(d) 24 hours
71. Zero hardness of water is achieved by
(a) using lime soda process
(by—excess lime treatment

) ion exchange method

(d) using excess alum dosage

7>
G

KNTCRA-54

“r——



A testbook.com

- 6L

62.

63.

64.

65.

66.
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S {e) 1P .

(0 S e gy |

' &R BNt

TG & 1 et TS (T 8l 2 -

(a) 27 (b) 4+
(c) 5. (d) 6.

TG T BT COD IR BOD T UK
FrefaRed gar &:

(a) 19 %9

(b) 19 3RF

(d) SYRE B TE

aﬁawﬁmmwmw
e

(a) 2.5% Jryararfers

(b) 1% 3rerar 3l

(c) 0.1% 341 FH

(d) T

Tt 3 RRIHOT ¥ oy R ST E:
(a) G BT fARTEHROT
(b) HIRET BT fARTHROT

(d) 19 &1 RIS

A% Rifest e w® 6 ?ﬂm Rl A
TeeATT e @ el A 8

(a) 30 A (b) 20w

(c) 10WdtgH. (d) 509w

A I B P HIRaT TS e A
JeP B, A FEMC BeRa g F

(a) FEMCfET BeRar _
(b) A FIRET ‘ @
(c) Pl FORAT- ga—eraamum

(d) &I

67.

59. .

70.

71.
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SIPRE T sguw <R T B gl
JlfedioFT W, W AT 9 R
Ame: |
(a) 1Pm/fa.

(c) 100 fan/fa.

(b) 10 /e
(d) 1000 fAamm/far.

mamvaaamaﬂ%a? Rt gters 8 |
%,aﬂmr{tﬁwﬁlﬁgaﬁaﬂaﬂﬁ@?ﬂ
TIfR

(a) B
(c} 4B

(b) 28
- (d) eB

T 157 Preefeae Feon 2 g

(a) Freifaa srgfear

(b) Hfer argfei

(o) et st

(d) tm’ﬁaftaﬁéﬁ'é’f

TP 159 x 670 x 34, almaméas% .
nﬁrﬁﬁzﬁma%ammw
m%aswﬁsﬁsﬁm@uw

ﬁﬁiﬁmﬁm P

(a) 3.2 (b) 5.63°<

(c) 1208 (d) 248G

9 3 Y SRl e S ara Bt

(a) IS ST ok TR

(b) 3feP TTEH STEAR gRI

(c) W(Ioﬁjﬁﬁwﬁfﬁm
(d) WWWE’WW
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72. In chlorination,. due to rise in.

temperature of water, death rate of

Increases

(b)
(g:)
(d)

Decreases
Remains u.naffecteq _
None of the above

73. BOD of treated water should be
(a) 10 ppm (b) 20ppm
(c) 30 ppm Ad) Nil

74. Which of the following retards the self-
. purification of stream ?

Higher temperature
(b) Sunlight
(c) Satisfying oxygen }lﬁand
(d) None of the above

fo'llowing

75. Which of the is not
coagulant ? _
(a) Aum & (b) Ferric chloride
) Gelatin (d) SO

geis usuatly

76. ThepH value of fresh s
) morethan7

(c) less than 7 (d) 9

For the COD test of sewage, organic

matter s

dichromate (K,Cr,0,} in the presence
~— T

of :
1
\/Js‘ulphuric Acid \/

(b) Nitric Acid
(c) - Hydrochloric Acid~
(d) Acetic Acid V/

77.
oxidized by Potassium

7

\V

Series-B

18 -

78. After cleéning a slow sand filter,

“ filtered water is not used for.

(b) 12to18h

p (d' 24t036h

(a) 6to12h
(c) 18to24h

79. Most important source of water for

public water supply is from
‘(a) Lakes -\MFonds

~ (c) Streams (dY” Rivers .

80. Water may not contain much

“impurities if its source is
(a) reservoirs q/\
(b) stream flowing in plains
“ (c)
(d)

lake in lower regions -

spring along hill slopes -

81. The most important water quality

parameter fgr domestic use of water is

(a) Carbonate hardness

(b) Monycarbonate hardness
liform group of organisms -

(d) -Chlorides
82. | Hardness of water is caused by

(a)
(b)

presence of soap lather

presence  of  chlorides and

Iphates of sodium and potassium
(@) presence of 603, 50, or chlorides
of Calcium and Magnesium. |
(d) Turbidity

KNTCRA-54



72.

73.

74.

75.

76.

77.

'mﬁmaﬂﬁqaﬁﬁ;mﬁaﬂw#,

BICTORIT B §og &
(a) GRS |

(b) BCOTHE
(c) arrifd & & |
(d) SRR A BIg TEl

STaR R T St 10D Fre g

a1feg : -

(a) 10 didiTa (b) 20 didiTH

(c) 30drdigH (d) T

T & @ B fhar &) e § | A
HE HRATR ? ¢
(a) SEETR AIHH

(b) d-wbTe

(c) amﬁmaﬁqmaﬁﬂgﬁm
(d) SR H I 781
frafafed 4 @) whed T8 8 ?

(@ T (b) ﬂsﬁwﬁﬁm
(c) Rrifes (d) SO,

a™l HoWd $1 pH AF  GEROGET
freafeRaa B e
(a) 7

() 79®H

~ (b) 7#311‘%
(d) 9

o % COD T $ Ry, FEf®
yer} @1 MRREH TEPWT (K,Cr,0,) F
R fe Y suffa 4, mwﬁmﬁm
Sre:

(a) Wiﬂw(

(b) TR 13T

() BISRITIRG 3

(d) vifes et
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78.

| 79.

80.

81.

82.

TS 7 919 fheer @1 9k 9 F 91,

mawﬁﬁﬂﬁmwaﬁm
(a) 6¥128%C  (b) 12%13?:111%

(© 1892477 (d) 249 36HR

WW%WWWMW
| Frafafea e
(a)
(c) ar

-

(b) TeTd
(d)

wmflagaemsl‘g%?ﬁ%ﬁmm%

wrd fFrfafea e -

(a) eIy

(b) ﬁmﬁmganm
(c) fraa A sia
(d) T AR IR FRAT

| (a) PEFTFERE

(b) B R BoRal ’
(c) mﬂﬁ?\ﬁﬁﬂﬂ
(d) FARTSS.

(c) Sy aen ﬁiiﬁlﬁla"l & El?l'aﬁ‘c!
me’tmaﬂaqﬁélﬁﬁ
(d) TEemeE
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83. A heavy stone is suitable for
(a) Arches '
(b) Rubble masonry

(c) ads
ﬁtaining walls

84. Quantity of Gypsum in ordinary

Wment is
a)” 3% (b) 4%

(c) 5% (d) 6%

85. The minimum depth of foundation
below ground level for a residential

be
{a), 100 cm (b) c

(()/ 60 cm 50 cm
/

86. The minimum height of plinth of a

building with respect to the level of the
centre of the road passing at its front
or back should be

{ay 10cm
) 30cm

(b) 15cm
(d) 60 cm

87. The function of cleats in a roof truss is :
(i) To support pu'rlir_ﬂ—_?
(i) To support common rafter
(iii) To prevent the purlins from tilting.

The correct answer is

(a) only (i)
Miv (i)

(c) both (ii) and (iii)

(d) - None of the above

Series-B

building according to IS : 1904 should

88. Which of the following type of door
can allow air circulation and privacy,

even when it is closed ?

(a) Wire gauge.

\_(/b)/Louvered
\_(})/l;art panelled, part glazed
\___,/—-‘f

(d) Fluéh door 4

| 89. Efflorescence in building is due to

sulphatgs of
\Aium

(c) Iron

(b) Sodium
(d) Both (a) and (b)

< 90 Quick setting cement is produced by

adding

(a) less amount of gypsum in powdef
form

(b) more amount of gypsum in
' owder form

(¢ aluminium sulphate in powder
- form

{d) pozzolana in powder form

91. Fingr the cement, more is the
strength of the cement
(b) workability\(
(c) shrinkage cracking

(d)/ All of the above

20 o KNTCRA-54
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83.

84.

85.

86.

87.
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oo W) TR SIY Bl
(a) FewE & ferg

(b) 5t (rubble) F2rTS %
(©) TsF b fag

(d) wRERe Sar F fag

AR NS W s B A

frafafaa e e :
(a) 3%
(c) 5%

(b) 4%
(d) 6%

15:1904%313«1?3@@?1@’—1%51%1?
Wfwa ¥ A4 A wEaE e
Prefofaa e @iy :
(a) 100 ¥ (b) 80 .

(c) 60 3. (d) 5094l

mﬁswﬁm%ﬁmﬁaﬁmﬂs
weg % aa @ wa A a9 Py LI
Farg B Aoy s
(a) 10 9.
(@ 303

(b) 15 .
(d) 60 ¥

TH Bd SR TR HTIEE

() TRT PY SR W& B

(ii) SRR RO (rafter) Y WERT <l
(i) TREH P g AP
ﬁﬁﬂﬁﬁﬁ%:-

(a) Pad (i)

(b) Ppad (iii)

(c) (i) 3 (iii) A |

(d) SR d BIE TE
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89.

90.
PR @ S e

91.

ﬁﬁﬁﬁﬁmmmm,a’agﬁ |
R A, B A ag BT HAY IAT T
YT B qHAT 8 ?

| (a) TATCHER SXATT

(b) fRrcifiiel TRaATST
(©) mﬁaﬁmwmﬁﬂm

(d) YIS XA

mﬁﬁq@ﬁﬁmﬁm%ma‘»
FRU B S :
(a) HfcErad
(c) el

(b) AfETH
(d) (a) T (b) I

eﬁammé‘rﬁ?ﬁaﬂﬁ%m

(a) Royoers ) &% AT, o BU A
(b) forea ) wifdre =0, o SY A

() q@ﬁﬁﬂﬂﬂm,quﬁwﬁ
(d) drserr, 9o o A



92. As per IS specification, the minimum
compressive strength of 1™ class bricks

should be
(a) 75kg/cm?2 (b) 90 kg/cm?
(c)"100 kg/em?  (d) 125 kg/cm?

93. If “D~ is the duration, ‘ES’ and ‘EF’ are
the earliest start and finish times, ‘LS’
and ‘LF" are latest start and latest finish

. times, the following relationship holds

good.
(a) D=LF-EF (b) =LF+D
() LF=LS-ES \((MEFF=5+D

94. Cant deficiency becomes an inevitable

consideration on a main line and

branch line moving in
(a) same direction

(b) opposite direction
(c) cross direction
\drNone of the above

'95. The value of super~elevatidn will be
mofe when
\tj{ipeed is more
(b) radius of curvature is less

(c) both (a) & (b) of the above
(d) None of the above

96. A pavement is classified as flexible or
rigid pavement based on
\ﬁ Wearing coat (b) Base course
(c) Sub-base | (d) Sub-grade
SeriesB

97. In the absence of super-elevation, the

formation of pot holes is generally

on the outer edge of road

(b) in the inner edge of road
(c) in the middle of the road

(d) anywhere along the width of the
road.

98. Vehicle damage factor (VDF) as given
by LLR.C.,, is used in

\::)/\Vestergaard‘s analysis '
CBR method of pavement design

(c) design of drainage system

(d) design of dowel bars

99. Ballast is used in Railway section to

serve as

(a) an elastic bed

(b) /foundation of rail track
\(j/:)oth (a) and (b)

(d) protection from animals

100. In
provided for the purpose of

railways, the disc signals are

(a) dead siow movement -
(b) indicating busy platform
(c) possible danger ahead

) shunting
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92.

93‘

95.

- 96.
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nﬁ?ﬁawﬁiaﬁﬂﬂwﬁoﬁaﬁiﬁaﬁ
(a) 75 frm/aH2 (b) 90 famm.l

(@ 100fI/AA.2(d) 125 Rem/d.2

af ‘o af, €S Td ‘EF HuaH IR wq |

a1, 15 @@ LF R R T

- iR s 2 Qo §ra FafaReaa d9a

m:

(a) ‘D'—"LF'_‘E#
() LF=LS—ES

(b) LS=LF+D

(d) EF=ES+D
e Y| A @ I Ja dE W
Wﬁﬁmtﬁwﬁﬁ,
(a) vEARMHA

(b) RredafRend

(€) TR I frmadt

(d) SR R forem # e

TR 1 AT SR B, S
(a) FRT A

(b) IFA-BAFAE

(c) SURYE (a) TR (b) T
(d) SR H D TE

wWwﬁWw'mga,_

frfifad % MR WA & :
(a) OErSoT URE

(c) SUER

(b) SMER WA

(d) Sudd
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97. znaﬁmaimmﬁ mwramwaﬁ
'Wﬂhﬁﬁrﬁ% |

(@) mﬂ?a@ﬁﬁﬁw

) mﬂsmﬁwﬁﬂﬁw

(c) m%sqwﬁ _
(d) Wﬁﬁ\s@ﬁﬁ"rmnﬁ

. IEIRAL (mcmmﬁﬁ nﬁ = aﬁr

W(vop)mwmsﬁm%
(a) Jeers fagevor 3

| (b) @ fraR. (CcBR) R X 2w

afeaa A

A9 m-ﬁmaaassrﬁmﬂﬁ
@ mw*mﬁ |

" WWWWWW

»RmTRE:

(a) wmrwwﬁsmﬁ

- (b) Yooa & i $ HIH
| (@ < (a) @ (b)

o sy

. e, wfa e Preffa & o

m\_slﬁ%:i- :
(a) aredre ety e & ford

) mmﬁm-&sﬁrﬁ

(© mwﬁawaﬁ%ﬂ
(d) qmitwﬂ (shuntmg)-&sf%ﬁ
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